Tree pattern matching worksheet.

Algorithm:

Tile(n)
Label(n) « existing label

if nis a binary node then
Tile(Teft(n))
Tile(right(n))
for each rule r that matches n’s operation
if left(r) e Label(Teft(n)) and right(r) e Label(right(n
then Label(n) « Label(n) U {r)
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else if n is a unary node then
Tile(left(n))
for each rule r that matches n’s operation
if left(r) e Label(left(n))
then Label(n) <« Label(n) U {r)
else /xnis a leaf #/
Label(n) < {all rules that match the operation in n)

Productions:

1 Goal —>  Assign 0

2 Assign - < (Regji.Regp) 1 store ry =

3 Assign — <« (+ (Regj.,Regp), Regs) 1 storeAd rj =

4 Assign — < (+ (Regp,Nump), Regs) 1 storeAl rj =

5 Assign — <« (+ (Nump,Regp), Regy) 1 storeAl rj = r
6 Reg —  Labg 1 lToadl 11 =

7 Reg - Valp 0

8 Reg - Numg 1 ToadI ny =

9 Reg — @ (Regp) 1 load ry =

10 Reg — @ (+ (Reg;.Regy)) 1 ToadAQ r1.r2 = Fpe
11 Reg — @ (+ (Regy.Nump)) 1 lToadAIl  rq,np =

12 Reg — @ (+ (Nump,Regp)) 1 loadAl  rp,ny =

13 Reg — @ (+ (Regp,labj)) 1 loadAl  ry,1, =

14 Reg — @ (+ (Labj,Regp)) 1 loadAl  rp,1p = p
15 Reg — + (Regj.Regp) 1 add ry.rp = r
16 Reg -~ + (Regj,Numy) 1 addI ry.ng =

17  Reg ~> + (Numjp,Regp) 1 addI ro,np =

18 Reg — + (Regjp,Labjp) 1 addl ri,ls =

19 Reg — + (Labj,Regp) 1 addl ro,1; =

20 Reg ~— - (Regy,Regp) 1 sub ri,ro =

21 Reg — - (Regp,Nump) ‘ 1 subl ri.np =

22 Reg — - (Numy,Regjp) 1 rsubl rz.N1 = o
23 Reg — X (Regy,Regp) 1 mult ry,ro =
24 Reg — X (Regqy,Nump) 1 multl ry,.np, = r“
25 Reg — X (Numjp,Regyp) ’ 1 multl ro,ny = r




